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Question #1Topic 1

HOTSPOT -
For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.



Hot Area:



Correct Answer: 

Question #2Topic 1

HOTSPOT -
For each of the following statements, select Yes if the statement is true. Otherwise, select No.
NOTE: Each correct selection is worth one point.



Hot Area:



Correct Answer: 

Question #3Topic 1

This question requires that you evaluate the underlined text to determine if it is correct.
When you are implementing a software as a service (SaaS) solution, you are responsible for
configuring high availability.
Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed". If the statement is incorrect, select the answer choice that makes the statement correct.

● A. No change is needed.
● B. defining scalability rules
● C. installing the SaaS solution
● D. configuring the SaaS solution

Correct Answer: D

Question #4Topic 1



You have an on-premises network that contains several servers.
You plan to migrate all the servers to Azure.
You need to recommend a solution to ensure that some of the servers are available if a single
Azure data center goes offline for an extended period.
What should you include in the recommendation?

● A. fault tolerance
● B. elasticity
● C. scalability
● D. low latency

Correct Answer: A

Question #5Topic 1

This question requires that you evaluate the underlined text to determine if it is correct.
An organization that hosts its infrastructure in a private cloud can decommission its data center.
Instructions: Review the underlined text. If it makes the statement correct, select "No change is
needed". If the statement is incorrect, select the answer choice that makes the statement correct.

● A. No change is needed.
● B. in a hybrid cloud
● C. in the public cloud
● D. on a Hyper-V host

Correct Answer: C


